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39- Her Cool response .......ccoeveeveeieeeene that shedidn’t like the
idea.
1) suggested 2) provided
3) advanced 4)protected

40 - which oneiswrong?
Jack hasto give up smoking and Mary has too.

A B C D

1A 2)B 3)C 4) D
41 - Your friend maybe .........cccocveiiiens if you don’t accept,
her invitation.

1) admired 2) offended

3) attracted 4) excused
42 - Asfor as| know, leonardo’s first flying machine.

1) success 2) succeed

3) successful 4) successfully
43 - Do you know when the steam enginewas ............. .

1) published 2) invented

3) discovered 4) collected
44 - Intheword “ ............ ", the stress pattern is different.

1) again 2) above 3) after 4) ago
45 - Your friend, Jack, knew everything about our decision.
He i to our converstion.

1) must listen 2) should listen

3) should have listend 4) must have listened

46 - Planets aren’t stars. They have no light of their own.

1) destory 2) reflect 3) prepare 4) attack
47-A“May | useyour car?” B - “Sorry, | need it right now.”
A-“0oh, e

1) never mind 2) sure

3) thanks 4) of course
48 - you shouldn’t .....ccccceverveene your lessons. you should learn
them.

1) emphasize  2) memorize 3) understand  4) find out

49 - | genrally prefreto stay home and do my home work.

my homework instead of ...........cccoueee. ping-pong.
1) playing 2) play
3) played 4) to play
50 - Sheisabout ......c.ccccee. , but you'll catch her
1) leave 2) to leave 3) leaving 4) left
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